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ETUDES DE CAS

Cas n°1

Introduction

This simple worked example illustrates the mechanics of applying the key requirements of
IFRIC 12 regarding the recognition and measurement of revenue, and recognition and
measurement of the consideration for construction services. For simplicity it does not
illustrate the other requirements of IFRIC 12.

= gf;v\(?M -‘{(7”, /fj"‘-// ¢ _.1 (\J&Q}g@(ﬂﬁ d\km'\keﬂﬁf\w‘\
Facts and circumstances o . //?z////nw%ﬂe/ J\@:\( . i M%N\PV Q\Kz |

Municipality A (the grantor) contracts with Entity B (the operator) to build diagnostic
medical equipment (a scanner) that will be used in providing public health services. The

- equipment will take one year to build. After its construction, the operator will provide

maintenance services and make the scanner available to the public health service facility for
@iﬂd’of‘ﬁve\y‘@a?sy The operator does not expect’major repairs to be necessary during

(" the concession period. At the end of the concession period, the operator must return the

equipment to the Grantor for no additional consideration. The patient will pay the operator
100 CU each time that the machine is used, with the grantor guaranteeing a minimum
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annual payment of([60,000 CU.\

The operator also sélls similar equipment in the normal course usiness and estimates
that the fair value of services provided in building the scanner is 350,000 CU.)The estimated
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average interest rate of lending to the grantor is five percent- =
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Asset recognition

In exchange for construction services, the operator receives a right to a fixed and
determinable amount of cash of 60,000 CU per year for five years. The operator also
receives a right to charge patients for the use of the scanner and to retain the amount
collected over and above the monthly minimum. Therefore the operator receives a financial

asset and an intangible asset. »

Measuring the financial asset

The operator classifies the financial asset received in the arrangement as a receivable uqder
IAS 39, and accordingly measures it initially at fair value and subsequently at amortised
cost. Fair value at the end of the first year (upon completion of construction) is estimated
by discounting the guaranteed future-cash flows of 60,000 CU per year for five years at a
discount rate of five percent per annum. The amount of consideration allocated to the

i [ is 259,769 CU. . - ” o
financial asset is - 60 fo 4 '((0 + & q JF’C_“
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therefore, our first

The fair value of an intangible asset can be difficult to measure; Be. Hhe mosk

impression is that in practice the fair value of consFructign servi.cesd may
appropriate way of measuring the fair value of the consideration received.
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i i air value of the lr.ltangl'
When both financial and intangible assets are recognised, the; I value o the demtion

asset can be measured as the difference b_etwe_en l:he :?a‘z;;:rlgent.
and the fair value of the financial asset received in the a [
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Accounting for revenue
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The _total revenue from construction services will be equal to the fair value of the construction
services, i.e., 350,000 CU. 259,769 CU of consideration is received in the form of a financial

asset {see above). In this example, the remaining balance of 90,231 CU is allocated to the
intangible asset, representing the right to charge patients.

Revenue for services provided is accounted for in accordance with IAS 11 and IAS 18. In year
1 the operator recognises revenue from construction services of 350,000 CU.

Assume that actual demand for the scanner over the five years of operation is as follows:

, Year 2| Year3 | Year 4 | Year 5 | Year 6
Numberofumes used @ @ Cg@ @ 989‘

Based on the illustrative examples in IFRIC 12, we believe that the cash receipts should be
allocated between repayment of the receivable and revenue as follows:

i : : Year 2 | Year 3 | Year 4 | Year 5 | Year 6
Usagexabo . =~ o o) 96,000 | 84,000 | 90,000
‘Amount received (subject to 60,000 | 78,000 (26,000 |

Allocated to receivable p D0 | 60,000 | 60,000 | 60,000 | 60,000
Allocated to revenue from operation/|  -|(18,000]736,0007[24,000 | 30,000,

follows:

Relevant income statement and bal/ance sheet amount(gover the concession period are as—

Pel o 4 e e TROTS

1 Yéﬁél:‘;:ij \ Y\eia_:r?l : Year4 '(,,'Ye"ar 5| Year 6

Revenue 3§°?°°d:§_:~»( -| 18,000| 36,000 | 24,000 30,000
} SR 10,638 | 8,170 | 5578| 2,857
8,046 | -18,046 | -18,046 | -18,047

S -

Intangible asset 18,047 :

* Receivable at the end of the previous period|x five percent. \

** Intangible asset’s initial carrying amount /|five years.

x%x* Receivable at the end of the previous period + finance income for the period - payments for the
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Cas n°2 (Révision comptable - septembre 2012)

Données :

Au début de'l’.exe.rc’ice 2010, la Société Générale des Marchés (SGM) a conclu un accord
avec Ig municipalité d’'une grande ville portant sur la construction et I'exploitation d’un
marche de gros dans les conditions suivantes :

- Durée de I'accord 30 ans.

- La SGM cé?nstrui't les locaux du marché de gros pendant 18 mois (codt 2,5 millions de DT
POUI’_Ia 19 e‘annee et 1,5 millions de DT pour le premier semestre de la 28me année) sur un
terrain mis a sa disposition par la municipalité.

- la S.GM loue aux intermédiaires et grossistes des espaces de dépot et facture aux usagers
(agriculteurs...) un droit d’entrée au marché et les services de la pesée pendant 28 ans et

6 mois (du second semestre de la 2¢me année a la 30°™ année) selo}g?%@lﬁg_nﬁ‘—@ms
tarifs fixés par la municipalité (Recettes annuelles estimees : 40000t .

- La SGM assure l'entretien (nettoyage ...) et le gardiennage du marché de gros pendant
toute la durée de l'accord.

- LasGM démolie les constructions et restitue le terrain a la municipalité en fin de contrat
~ (alafin de la 30°™ année). Le colit de démol'tcip est estimé & 300.000 DT.
(i et ume qmug( o Podd de -@gmwfu oy

La SGM utilise exclusivement ses fonds propres pour exécuter cet accord. Les justes valeurs
des prestations de construction du marché de gros, pour (2010) et 2011, s'éléevent

N /—.‘—‘-—_—_—*\ ~ . Z >
respectivement a.650.000 DTyet 1.590.000 DT. Le coiit de capital deTa SGM est de 5%.
CINTTIE 5 ! / ' ] K g
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En utilisant le référentiel international et sans tenir compte de la TVA, de I'IS et des impdts
différés, il vous est demandé de :

1) Préciser le traitement comptable approprié relatif a cet accord.
2) Passer les écritures comptables relatives a cet accord au 31/12/2010, au 30/06/2011 et
au 31/12/2011.

Solution :

Référentiel : IAS 18, IAS 38, IAS 37 et IFRIC 12
1/ Traitement comptable approprié de cette transaction en IFRS

sion qui entre dans le champ d'application de l'interprétation

Il s'agit d’un accord de conces
ds de concession de services de type « public-privé » si :

IFRIC 12 qui s'applique aux accor
a) le concédant contréle ou réglemente les services que le concessionnaire doit fournir
avec l'infrastructure, a qui il doit les fournir et a quel tarif ? ; et

nt conserve (en sa qualité de propriétaire, d'usufruitier ou en toute autre

b) le concéda . sufruiti
intérét résiduel significatif dans l'infrastructure a I'échéance de I'accord.

qualité) tout

La SGM (concessionnaire) dispose d'un droit contractuel de facturation d'un loyer aux
intermédiaires et grossistes, d'un droit d’entrée au marché et des services de pesage aux
usagers du marché de gros en contrepartie de ses prestat’ions de construction du marchg et
de son exploitation = i s'agit d’'une opération d'ech'ange portapt sur des biens
dissemblables (droit contractuel de facturation contre prestations de services).
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La SGM (cqncessionnaire) supporte le risque lié a la fréquentation - Son droit contractuel
de fac,tur‘atlop est assimilé a une licence. Elle reconnait une immobilisation incorporelle
evaluée a la juste valeur de I'actif abandonné.

La SGM '(concessionnaire) comptabilise et évalue les produits selon IAS 11 (contrat de
construction) et IAS 18 (produits des activités ordinaires) pour les services qu'elle fournit.

La SGM (concessionnaire) a une obligation de démantélement des constructions au
terme de l'accord qui doit étre comptabilisée conformément & IAS 37 c'est-a-dire ala
me!lleure estimation de la dépense qui serait nécessaire pour éteindre I'obligation actuelle a
la fin de la période de reporting. Il s'agit d’'une dégradation immédiate.
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2/ Comptabilisation de cette transaction en I’:ff@% QLV\ Ok OV % C O &ﬁ .
Fin 2010 o

Immobilisation incorporelle en cours (Licence) (B»)‘J 2.650.000

Prestations de services (R) 2.650.000
Fin Juin 2011

Immobilisation incorporelle (2.650.000+ 1.590.000)) (B) ~ 4,240.000
Prestations de services (R) + 1.590.000
Immobilisation incorporelle en cours (B) . 2.650.00%

La construction du marché de gros crée une obligation actuelle de démantélement a la
charge de la SGM. Il s'agit g’une dégradation immédiate a évaluer a la meilleure estimaticn
de la dépense actualisée. Y, 5w $ro™ [/ 8426

SN ’ v v '
Fin Juin 2011 - \ \
\
Immobilisation incorporelle - actifli¢ (300.000/(1,05@5) (B) 74.683,770
L
Provisions pour démantélement (B) 74.683,770
Décembre 2011 o \

, ]
Dotation aux amortissements (B) 75.696,2
Amortissement Immobilisation incorporelle (B)

Amortissement immobilisation incorporelle - actif lié_(B)

74.385,965

Décembre 2011 = \
Charges financieres (R) .867,09
Provisions pour démantélement (B) / | 1.867,094
C
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